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No. 1
1. fEEHE
(1) REEE R—AOBELIOEEORS
(BILAR—NTHh A TSR LRI ERS)

(2) HERRHIR - KRERWH, MFEH
- FREEERS [0 ]

(3) W—/OHME « 2R, bn

» Hi 54, bm
2. FRES
(1) REEE - BEEMKETS. HRE
(2) fEAPrE STK500
(3) BREFE - BEME R—_ABLIUVESHOEER

« EME P=qXCfXa (N)
q: HEE (N/md)
q=0. 6 XE X Vo?
Cf : JASR%k
F@EmoESEY Ccf=0.9Xkz
YR DEEY Cf=1.2Xkz
A HLUEFROZRAEE (o)

GEEEL IUREREOERH)
#h & H= 4.5 (m)
RETEGE Vo= 34 (m/sec.)
Er= (. 89884
I AMEE RS Gf= 2.2
E= 1.77742
q= 1233 (N/m®)

MERO#EIEY Cf: 0.9
EiRF O EY Cf: 1.2
D HEHSOMBE NS OB X ()

Z
k ZOMEIZL Y, keDEME DB, kz=<1.0T
HY, BEITkz=12Z~0.9L1. 2B W5



No. 2

F— L OB
Mg Wik 2R gE
25 (nm) | #RJE (mm) (kg)
STK500 114. 3 2 26. 2
RETER _
EE #HE |Eirs ke EERE | RS RERE | RES gE
H{m) A(m2) C q (N/m2) P(N) (kg)
J=F=n" R 1 4,5 0. 6500 1.2 1233 961. 60 7.9
BHALE A7 1 4 0. 0300 1.2 1233 44, 38 1.6
N 97l - 1 3 0. 1600 1.2 1233 236. 70 37.2
B 1 2.25 0.5144 0.9 1233 570. 69 26. 2
AEREICLZHTE—=A
e AKERE [FEAME| i E-A/N-m)
(N) (m) AL b1
J=F=n" 3 961. 60 4.5 4327, 2
BEALAAZ 44. 38 4 177.5
N yF]- 236. 70 3 710. 1
B 570. 69 2. 25 1284, 1
ERTIR
Wrim R WriEmtREy [Fakrmm b T BERE | A0 | RS
Po. A wRIE y4 Acr M N M/Z+N/Acr| oca
(mm) (mm) (em®) (cm?) (N-m) (N) (N/mm?) (N/mm?)
1 114. 3 2 19.47]  0.5208 6499 714.9 348 355

o ca=M/Z+N/Acr
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No. 3

PR OBV M= 6499 (N-m)
f= p KDot*/ {120P (H+to)3} =2.0 // OK
Do=  0.1143 (m) LA
t= 1 (m)
to= 0.667 (m) ; a
H= 4.5 (m) | v
P=  1444.2 (N)
 EERENE =M/ |
K : &% N/n" |
|
|
: |
|
. i
_____ Mo ‘ !
X
THEFREE .
B R
TE DR (N/m*)
[AIBE > TWALXid#s, D, AEELC VD
YE+E +2 TN OHEICBETHHD 3. 9% 107
[BIEE » TWA LI, £HD, BEHRELV O
T+ ETEHOWEOEEICBRTA LD 2.9%107
(CliRy (ERFECHARNVED) 2.0X107
wmH+E |[DIkooEniit, Bet, BXhlE#eER+
(EHEERL) 0.8X107
p=36[y%2{1+B%(a-1}~2y /3{1+B8*(a-1)}+1/4{1+8*(a-1)}]
: HRRAR T
a=X/Do
B= (Y-0.15)/t
v=2/3X (1+8%a-1))/(1+B2%(a-1))
FHARIC L AR
TEREK TR DR KDot* Rl | 2=
K A (m) Y (m) 120P (H+To)? o f
3. 9X 10’ 0.5 1 0. 96 2.89 2.7
2.9X 107 0.5 1 0.72 2. 89 2.0
2.0X107 0.5 1 0. 49 2. 89 1.4
0.8 X107 0.5 1 0. 20 2.89 0.5
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